[image: image1.jpg], for w,z € G, w # z. Let

2. Let f(z) be analytic in a region G, and sct p(z, w) = f(i):g—(z—)

w—
20 € G. Show that  lim  p(z,w) = f'(z0).
(z,w)—(20,20)

3. p.87, Problem 3.

4. p.87, Problem 4.

5. p. 87, Problem 7.

6. p.95, Problem 1. Hint: show that oy ~ 05 and then usc transitivity of ~.

7. p.96, Problem 6.

8. p.96, Problem 10.
9. p.96, Problem 11.
. . . - =
10. (a) Find the Laurent scries expansion of f(z) = AZE-D in ann (0;0,1) and ann (0; 1, c0).

(b) Find the Laurent scries expansion of f(z) in ann (1;0, 1), ann (1; 1, 2), and ann (152, c0), where
f(z) is the function of Part (a). Please note that these scries are series in powers of z — 1.




Hint: I don’t remember exactly what was said in class but somehow we are to use the fact that:
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